Investigating Sine, Cosine and Tangent of Obtuse Angles: Part 2
Unit 6: Lesson 5
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Recall : Angles in standard position look like the following...
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The initial arm is always on the positive _________ axis.


The CAST rule will tell you if the trig ratio is positive or negative.
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Example 1:  Determine if the following should be positive or negative. Justify your answer.
a) sin 99˚

b) tan 154˚

c) cos 210˚

d) cos 359˚
e) tan 31˚

Example 2: Calculate the following.  What do you notice?  Why?


a) tan 210˚ and tan 30˚




b) cos 175˚ and cos 185˚

c) sin 43˚ and sin 223˚

Example 3:  Determine the measure of angle θ, if cos θ = -0.87

Step 1:  Ignore the negative and find the related answer, θR.

Step 2:  Using the CAST rule, determine the quadrants it could be located it.

Step 3: Use one of the following rules to find the answer

180˚ – θR
180˚ + θR
360˚ – θR 

Step 4: Check your answer.

Example 4:  Determine the measure of angle θ, if tan θ = -2.45.

Step 1:  Ignore the negative and find the related answer, θR.

Step 2:  Using the CAST rule, determine the quadrants it could be located it.

Step 3: Use one of the following rules to find the answer

180˚ – θR
180˚ + θR
360˚ – θR 

Step 4: Check your answer.

Example 5: Imagine your terminal arm ends at the point (3,-2), find the principal angle.

Step 1:   Make a sketch

Step 2:  Find the measure of the related answer first, θR, by ignoring the negatives.

Step 3: Use one of the following rules to find the answer

180˚ – θR
180˚ + θR
360˚ – θR 

Example 6: Imagine your terminal arm ends at the point (4,-6), find the principal angle.

Step 1:   Make a sketch

Step 2:  Find the measure of the related answer first, θR, by ignoring the negatives.

Step 3: Use one of the following rules to find the answer

180˚ – θR
180˚ + θR
360˚ – θR 




Sin θ =  _______








Cos θ = _______








Tan θ = ________








r2 = ________________








